(RN
<

a(6 @) (rad)

0950

4 -3 -2 -1 0 1 2 3 4
TP n (PCA to beamline)

H
S
o

—
= T
<) .

= Fogennee P A . P A e PR
e} :

o

w o R
©

o

0O 1 2 3 4
TP n (PCA to beamline)

—=— DQM_correctCheck_mu_ptOp1ltol_eta2pOto2p5

—e— DQM_original_mu_ptOpltol_eta2pOto2p5

aoa, ) (cm)

0 1 3 4
TP n (PCA to beamline)

-1

—

[ :
o :
2 R SR A A

— :
o :
2 L e e e e .-
2 :
o :

10%

1

10

Rat

0.95

=

0 172 374
TP n (PCA to beamline)

=1

z

o(d d.) (cm)

107}

34

2
TP n (PCA to beamline)

-1 0 1



	Contents
	Page 1


